











latency

*




T~

latency




Routing




Optical link

#3D-hyper crossbar network Z
crossbar

#*[Fat-tree network link




INSPIRE

»
#* routing
#* Store&Forward Wormhole




*
#* Latency

B) Token




1 token/clock 2 token/clock Time: 0 clock

Free Frfe Free

l

|
B —

|
o) 100




1 token/clock 2 token/clock Time: 1 clock

Free Frfe Free

l

|
B —

I I




1 token/clock 2 token/clock

PN
-\

Bisy

N
\‘.

=N\
O\

) "N
| 4

Frfe

Time: 2 clock

Fiee




1 token/clock 2 token/clock Time: 3 clock

\ ' b\




1 token/clock 2 token/clock Time: 4 clock

Bisy




1 token/clock 2 token/clock Time: 5 clock

Btisy Busy

‘}
4




1 token/clock 2 token/clock Time: 6 clock

Free Busy

|




1 token/clock 2 token/clock Time: 7 clock

Free Frfe Busy

l l

|
.

Hinit:
<




1 token/clock 2 token/clock Time: 8 clock
Free Frfe Free

l

|
B —

=
¢« ¢
H
da






Class MyNodes : public ManagePU {
public:

void Action(...){ ...}
void Routing(...){...}

b

main()

{
MyNodes pu;
pu.Set...(....)

Connect(....)

\

\ Clock
Routing

action







= system

# Adaptive routing optical link
routing

network routing




